Question Booklet Subject: Mathematics (Code:13)
Booklet Series: A ‘Question Booklet No 183961

Important: Please consult your Admit Card/Roll No. slip before filling your roll
number on the test booklet and OMR answer sheet

Roll No. in Figures:

Roll No. in Words:

OMR Answer Sheet Serial No.

Duration of Exam.: 2% hours Max. Marks: 200

The Question Booklet consists of 200 multiple choice questions as per the details given below:

Paper Description Medium
Objective There are three sections — A, B & C.
Sectior-A (Languages): 40 questions Respective
P r . .
type ape. Hindi - 20; General English - 20 language
200 questions Sectior-B: 80 questions English and

Gen. Awareness-30;Gen.Intelligence,NumericaHindi
Ability& Reasoning-30; &Teaching Aptitude-20.

Sectior-C: (Knowledge of the Subject): English and
80 questions Hindi
Signature of Candidate: Signafurerigilator:

In case there is any discrepancy/doubt in Hindi Version, please consult the English
Version.

DO NOT OPEN THE SEAL OF THE BOOKLET UNTIL ASKED TO DO SO.

ZBG-20999-A 619 Contd.



(English Version)
Section — A (Languages)
1 ‘HA-HY TS -TW A T I WE 87

A) TSR -HraH B) foremn -wem C) &g -Hiaw D) &< - H&w
2. [ TE T AN foRE A B SRt ST 27

A) HAfFaaraR B) wifaareh C) vaars D) EEEISED
3. | @ A fReR watted B 2 7

A) q&A ™ B) foan C) fargmm D) &&
4. FrafoRRaa & ¥ wimer v SRfoT 27

A) TuS B) W@ C) = D) ==
5.  ffoRaa o & =iqer s gfesiar 87

A) drEe B) & C) === D) =f&on
6.  Tieow-ERRIT & g™ A ¥ Fiver g °E 6l 27

A) dTeTeR - aTfeteRT B) s - Frad C) m- I D) R-1a
7. AT 6T AT Yehae § JANT Bl 8 7

A) & B) | C) s ‘A’ D) ‘A’ 9 ‘B’ 3=t
8. U & fre w1 ¥ fFA wI THRA 1 e B 27

A) 994 - FRE B) ¥9eH - & C) |eeT - FRE D) R - k&
9. afeer T TR Y B 27

A =R B) <= C) 3R D) U
0. 3TE T faewes i @ 27

A) Isotad B) @t C) Ta=R D) dso
n T I TR R a8 w7

A) W B) =% C) &t D) 3%
12 ‘e = w@ foeis o 27

A) e B) @A C) &9 D) iias
13, ‘s’ @ faew o 27

A) &S B) =R C) 3urst D) 9=
14. 98 afu-fa=se o 9 S -

A) WET-Zed B) WeT +3a C) Wat +3g D) & + 3ied
15 TrAfcRaa 9§ & S afta & 99T a -

A) TS + =T = TSI B) & +%&wrur = faewRu

C) af+ +a = ufea D) = +=9a@ =fw=a
16. ‘oo™ A I MBTR I e IS B -

A) foramT- et =t 3 B) 3o wiftra BT

C) e WIWeh a THTEEel Tl el D) fora= & 9T &
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17. N T @R S’ weEd ol GEr A B-

A) STEIFHTRT A TharT ol & B) W€ 9 ¥ TS AT

C) ¥ &l ITANT Wt T X & D) ¥ ¥ IUUR @
18, JEEEEAl ¥ AfE o -FT TRd T Hwe - arey & o v wee o -

A) FHauTT B) 3mRus C) ¥e=R D) 3=
19. ‘O W w9 ¥ B A s 27

A) &t B) Tt C) wrar D) Wi

20. 3EE 9 BT ¢
A) fo@ a9 | A UBeT 9T IR 9UI BT § 39 ST 9HY hEd B |
B) S & ¥ <8 e YR UM Bl § S9 AeqRy S FEd § |
C) ford =g ot e g <&l 811 39 g8 999 Fed B
D) f5& @ 92 | I Ug TUM 8l Bl 921 3F R fRal AR I8 9 SR 9ahd e & 39
TEAife 9™ Fed B |

Directions Qs. 21-24: Choose the opposite of the given word out of the @ptions:-
21. Jejune

A) Sophisticated B) Arrogant C) Delightful Dydifferent
22. Jeopardy

A) Validity B) Safety C) Piety D)Tactfulnes
23. Obfuscate

A) Complicate B) Eclipse C) Clarify D) Antzate
24. Inveigh

A) Liberate B) Suggest C) Equivocate D) Suppo

Directions Qs.25-28 Choose the correct preposition, out of the fqutiams, to be filled in the blanks:-
25 Shyam is ignorant his mistake.

A) of B) to C) for D) at
26. His speech was appropriate ___ the occasion.

A) upon B) to C) about D) for
27. Kalim’s behavior is subversive __ discipline.

A) with B) about C) of D) for
28. Radhika’s aptitude__ business cannot be ddubte

A) to B) about C) at D) for

Directions Qs.29-32 In these questions, four alternatives are giwerite italicized idioms. Choose the
alternative which best expresses the meaning dtitbm:
29.  Aflyonthewhed

A) a person who overestimates her/his importancga jBerson who cautions the people

C) a person who is hostile to all D) a persdmwntertains others
30. Fly off thehandle

A) attack someone’s enemies B) lose one’s terspadenly

C) make one’s escape D) run away from thedaiffisituation
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31. Keep the wolf off the door

A) keep her secrets intact B) keep protestipginst the times
C) keep off starvation D) keep working witmatst speed
32.  Tobeunder the harrow
A) to work hard B) to be awarded for honesty &€p¢ in good health D) to be in distress

Directions Qs.33-36:Choose the correct synonyms of the following wardsof the four given options:
33. Diaphanous

A) silken B) tired C) kind D) thick
34. Expostulate
A) infer B) disagree C) remit D) simmer
35. Improvised
A) imprudent B) incautious C) unstudied b)ivious
36. Maverick
A) materialist B) spiritualist C) selfish Dpnconformist

Directions Qs.37-40Choose the correct form of the following words las given part of speech out of
the four options:
37.  Above as noun:

A) Our blessings come from above B) The heaveasibove

C) The moral law is above the civil D) Analyse tbove sentence
38. Down as noun:

A) Down went the “Titanic” B) Shyam has seen tips and downs of life

C) The porter was killed by the down train D) ®rgine came rushing down the hill
39. But as adverb:

A) None but the brave deserve the honour B) Wl thiard, but did not succeed

C) It is but right to admit our faults D) Theseno one but likes him
40.  After as adjective :

A) They arrived soon after B) He takes afterfatber

C)We went away after they had left D) After agbkall sing his glory

Section — B

41. Superconductivity is a material property asged with:
A) cooling a substance without a phase change i&hainless liquid flow
C) a loss of thermal resistance D) a loss oftetad resistance

42. A type of plastic that is biodegradable and len in the news lately. The ingredient that makes
it biodegradable is :

A) vegetable oll B) petroleum C) corn starch |&gther
43. How many Dynes are there in one gram weight?
A) 900 B) 375 C) 981 D) 250
44, If the distance between the earth and the sene wwvice what it is now, the gravitational force
exerted on the earth by the sun would be:
A) twice as large as now B) four times as laagét is now
C) half of what it is now D) one-fourth of whais now
ZBG-20999-A Contd.
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45. Who was the first Indian to be selected toBhesh Parliament?
A) Dadabhai Naoroji B) G.K. Gokhale C) Bipin ChaadPal D) Lala Lajpat Rai
46.  Which of the following Rajput dynasties did sarrender to Akbar?
A) Parmar B) Pratihara C) Rathor D) Sisodiya
47.  Which of the following is not a classical laage of India ?
A) Sanskrit B) Telugu C) Hindi D) Malayalam
48. The scientific study of ageing is known as :
A) Etiology B) Gerontology C) Osteology D) Taskdgy
49. Which Indian artist decorated the handwrittepycof the Constitution?
A) Nandalal Bose B) Mihir Sen C) S. N.negi D) Mukesh Bhandopadhyaya
50. Preamble of the Indian Constitution has beeeraiad
A) Once B) Twice C) Thrice D) Never
51.  Which of these are nicknamed ‘Bretton WoodsrBi?
1. IDA 2. IMF 3.IBRD 4.WTO
A) 1&4 B)3&4 C)2&4 D)2&3
52. Section -498A of Indian Penal Code is a pops#a&tion. It deals with:
A) Property rights to women B) Reservationsvimmen
C) Harassment for dowry D) Kidnap and rape
53.  The United Nations climate change conferenc®T3or CMP9 was held in November 2013 at:
A) Paris B) Warsaw C) Montreal D) Kyoto
54.  The number of approved share markets in Iredia i
A) 19 B) 20 C) 23 D) 24
55.  Which of the following state has been brougta the railway network for the first time?
A) Manipur B) Assam C) Tripura D) Arunachal &esh
56.  Who among the following has recently been s$etkfor the coveted Indira Gandhi Prize for Peace
Disarmament and Development for 20137
A) lla Bhatt B) Medha Patkar C) Angela Merkel  ©Ohandi Prasad Bhatt
57.  Victoria Azarenka, who won the Australian Ofeamnis women'’s singles title 2012 is from:
A) USA B) Belarus C) Germany D) Slovakia
58.  The National Sports Day is observed on:
A) August 29’ B) July 2¢' C) September 39 D) August 28
59. Sonal Mansingh is famous for which form of dzthc
A) Bharatnatyam B) Manipuri C) Kuchipudi D) Kath
60. Ms. Meera Sahib Fathima Beevi is distinguishethe first lady
A) Judge of the High Court B) Governor of a 8tat
C) Judge of the Supreme Court D) Prime MinisteBangladesh
61.  The maximum poll expenditure for a Lok Sabhat bas been raised by the Union Cabinet on the
suggestion of the Election Commission of India:
A) From Rs. 30acs to Rs. 70 lacs B) From Rs. 40 lacs to Rda@s
C) From Rs. 50 lacs to Rs.70 lacs D) From Rdads to Rs. one crore
62. Which of the following agencies determine kiag of the countries in accordance with
Economic Freedom Index?
A) World Economic Forum B) UNDP
C) Heritage Foundation & Wall Street Journal D) WdBank
ZBG-20999-A Contd.
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63.  When is the World Population Day observed?

A) May 31 B) July 11 C) Oct. 4 D) Dec. 10
64. What was the highest individual score, in anngs in ICC T20 World Cup 2014?

A) 101 B) 106 C) 111 D) 116
65. Fiscal Policy is related to:

A) Money supply in the economy B) Regulationué banking system

C) Planning for economic development D) GovernrsdRevenue and Expenditure
66. Which American President has recently paintpdr&ait of Dr. Manmohan Singh?

A) Barack Obama B) George Bush C) Bill Clinton D) Ronald Reagan
67. Which is the largest economy in African Contitte

A) South Africa B) Nigeria C) Algeria )Dlone of the above

68. Who wrote ‘Why | am an Atheist’?
A) Subhash Chandra Bose B) Khushwant Singh C) &hamgh D) Madan Lal Dhingra
69. The recently set-up"Tentral Pay Commission is headed by

A) Ashok Kumar Mathur B) G.K. Chadha
C) Montek Singh Ahluwalia D) Ajit Prakash Shah
70. National Rural Employment Scheme was launchexighout the country from :
A) 1.04.2007 B) 02.10.2007 C) 14.11.2007 D)0a12008
71. ‘England’ is related to ‘Atlantic Ocean’ in tsame way as ‘Greenland’ is related to:
A) Pacific Ocean B) Atlantic Ocean  C) Arctic Ocean D) Antarctica Ocean

Direction Qs.Nos.72-73: Choose one of the four givalternatives that shows the same relationship
as is found between the two letters/numbers to tHeft of the sign ::
72. FJUL : BOQQ :: LHRX : ?

A) BKPR B) MNCC C) HRYY D) HMNC
73. 9: 162 :: 8 :?
A) 162 B) 128 C) 96 D) 112
74. Choose the group of words that shows samgaeship as is given in the question :
Correspondent : News : Newspaper
A) Farmer : Crops : Food B) Mason : Cemddonstruction
C) Cloud : Water : Ponds D) Road : Vehicl®estination

Direction (Q.Nos. 75-76): Three of the four alterntives given are same in a certain way and so form
a group. Find the odd one that does not belong thié group:

75. A) 62 B) 42 C) 152 D) 110

76. A) Java B) Sri Lanka C) Malaysia Duba

77. In a certain code language, ‘lu ra de’ meartgatwvas it’; ‘mo nil’ means ‘you go’; ‘nil pam ra&’
means ‘you like it" and ‘tok lu fo’ means ‘she wsisk’. How will you write ‘what you like’ in
that code ?
A) nil ra lu B) pom nil ra C)pomra lu @ nil pam

78. If ‘MOUSE’ is coded as “PRUQC’, then how BHIFT’ written in the same code?
A) VKIRD B) VKIDR C) VJIDR D) VIKRD

79. How many meaningful English words can be maitle the letters ‘ATLE’ using each letter only
once in each word?
A) Two B) Three C) Four D) More than four
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80.

36 vehicles are parked in a parking lot innglei row. After the 1st car, there is one scoaifer

2nd car there are two scooters, after 3rd caethex three scooters and so on. Work out the
number of scooters in the second half of the row.

A) 10 B) 12 C) 15 D) 17

Direction (Q.Nos. 81-83): Six plays A,B,C,D, E and& are to be organized from 2nd June to 7th
June, i.e. Monday to Saturday — one play each daylhere are two plays between C and D and one
play between A and C. There is one play betweendhd E and E is to be organized before F. B is to
be organized before A, not necessarily immediatelyThe sequence of plays does not start with B.

81.

82.

83.

84.

85.

86.

87.

The sequence of plays would start from whiely

A) A B) F C)D D) Can't be determthe
On which date is play E to be organized ?

A) 2nd B) 4th C) 3rd D) Can't be detemed
The sequence of plays would end with whicly fla

A) A B) D C)B D) Can’t be determined

B, C, D, E, F, G, H, J are sitting around aleifacing the centre . B is an immediate neighlodu
F and C. E is second to the left of F. G is sdctinthe right of C. D is not an immediate
neighbour of G. There are two persons betweendCJarHow many persons are between C and
D?

A) 2 only B) 4 only C) 5 only D) either 2 or 4

If ‘A + B’ means that A is the father of B; -8’ means that A is the wife of B; ‘A x B’ means
that A is the brother of B and ‘A + B’ means thatisA\the daughter of B. Then which of the
following is true for P+R+ S+ Q ?

A) P is the daughter of Q B) Q is the auntIfeds sister) of P

C) P is the aunt (father’s sister) of Q D) Fhis mother of Q

Q’s mother is the sister of P and daughtév ofS is the daughter of P and sister of T. Howlis
related to T?

A) Maternal Grandmother B) Father C) Masgti@randfather D) Option (A) or (C)
Ram starts walking towards East from a pointai®l after walking 15 m turns to his left and
walks 10 m, again he walks 10 m turning to his &ftl finally walks 22 m turning to his left and
reaches a point ‘Q’. How far and in which direatis he from the point ‘S’?

A) 15 m South B) 22 m South-East C) 12 m South D) 13 m South-East

Direction Q.Nos. 88-89: Read the pattern of lette/numbers/terms and find the missing term from
the given alternatives:

88. 9,27,31, 155,161, 1127, ?
A) 1135 B) 1288 C) 316 D) 2254
89. Y,B,T,GO0,?
A) N B) M C) L D) K
90. In the following series some letters are mggsivhich are given in that order as one of the
alternatives below it. Choose the correct alteveat
adb_ac_d _bcda bcac_d
A) bacbd B) dbacb C) cbadb D) acbda
ZBG-20999-A Contd.
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91.

92.

If P denotes +, Q denotes —, R denotes x ateh8tes =+, then which of the following is cotfec
A) 16 R12P49S7 Q9=200 B) 32S8R®HBBQ 12 R 12

C) 8R8P8S8Q8=57 D) 36 R4S 8 Q4710

The age of father 10 years ago was thrice geeoé his son. Ten years hence, father’'s age will b
twice that of his son. The ratio of their presages is :

A) 5:2 B) 7:3 C)9:2 D) 13:4

Direction (Q.Nos. 93 to 95): A survey of a locdy regarding newspaper reading habits shows
that: newspaper A is read by 26%; newspaper B is @ by 25%; newspaper C is read by 14%;
newspaper A and B are read by 11%; Newspaper B an@ are read by 10%; Newspaper C and A
are read by 9% and newspaper C only is read by 0%.

93.  The percentage of readers who read all tlee thewspapers is
A) 10 B) 4 C)5 D) 6
94. The percentage of readers who read at most@mspaper is
A) 20 B) 80 C) 60 D) None of the above
95.  The percentage of reader who read at leashémspapers is
A) 15 B) 16 C) 20 D) None of the above
96. How many times are the two hands of a clocigat angles in a day ?
A) 24 B)48 C) 22 D) 44
97. Calendar for the year 2014 will be the sametferyear:
A) 2018 B)2020 C) 2022 D) none of the above
98. Choose the alternative which most closely régesithe mirror-image of word PAINTED
(A) ATNIA1 (B) AATVIAY
(C) AAINIAT (D) AETNIA9
99. Two positions of a dice are shown below. WHeard are two dots at the bottom, the number of
dots at the top will be )
® L ® o
® O le P [ ]
e’e ®
A) 2 B) 3 C)5 D) 6
100. How many triangles are there in the givenrégu
A) 28 B) 24 C) 25 D) 26
101. Which one of the following is the main objeetof teaching?
A) To develop thinking power of the students B) To give information related to the syllabus
C) To dictate notes to the students Oprepare students to pass the examination
102. Which of the following statements regardiMgtory Level of Teaching” ( MLT) is incorrect ?
A) Memory is the initial stage of teaching
B) Memory Level of Teaching mainly depends onghevailing socio-economic conditions
C) MLT includes the habit of rote memorizationfaéts and bits of information
D) MLT enables the learner to retain and alsoagdpce the learnt material whenever required
ZBG-20999-A 8 Contd.
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103.

104.

105.

106.

107.

108.

109.

ZBG-20999-A

Which of the following statements regardirfgynderstanding Level of Teaching” ( ULT) is

incorrect?

A) Morrison is the main proponent of ULT

B) It is ‘memory plus insight’ as it goes beyondtjuhe memorizing of facts. It focuses on the
mastery of the subject

C) Cultural materialism is also a primary determgfactor of ULT

D) It provides more and more opportunities for shedents to develop the intellectual behavior

Which of the following statements regardiiReflective Level of Teaching’(RLT) is incorrect ?

A) Hunt is the main proponent of RLT

B) It is problem - centred teaching

C) The students are assumed to adopt some sasedrch approach to solve the problem

D) The teacher assumes the primary place andupi occupies the secondary place

Which of the following is not a domain oregary of instructional objectives according to Bioo

etal ?

A) Socio-Political Domain  B) Cognitive Domain C¥factive Domain D)Psychomotor Domain

Which of the following is not one of the adtages of “Lecture Method”?

A) It is economical as it can cover large audieimdess time

B) It promotes social cohesion among the pupils

C) It is useful for stimulating further learning

D) It has the flexibility for adapting the lectuaecording to time and equipment available

Which one of the following is not one of thdvantages of ‘TV or Video Presentation’ as a

teaching method?

A) Many important personalities and experts areught to the classroom through video-

presentation

B) This method is specifically useful for adulataers

C) It promotes a sort of nativism among the leesn

D) lllustrated lectures and demonstrations carsiggplemented by other teaching aids such as

slides, models, specimens, etc.

Which one of the following is not one of tidvantages of ‘Team Teaching Method'?

A) It helps in sharing the best faculty by monedents

B) It involves optimum use of teaching technigaed devices

C) It improves the teaching quality

D) It affects the socio-economic conditions of fhupils

Which one of the following is not one of tidvantages of ‘Group Discussion Method’ ?

A) It flattens out the ideological differencestbé pupils

B) It can be planned where there is certainty abfoeiconclusions and objectives. The discussion
is guided by the trainer in an appropriate sequence

C) It promotes communication and interaction witaigroup around a topic or problem presented
to the group

D) It can also be unplanned where the topic presefdr discussion is without any opening
statement and discussion that follows is entirplynganeous

9 Contd.
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110. Which one of the following is not one of #tvantages of the “Case Study Method’?
A) It provides opportunity to the participants toritically analyze the problem and express
reasoned opinions.
B) It promotes gender-sensitivity among the pupils.
C) It enhances decision —making and problem-sglskills.
D) It ensures active participation, which may l¢adhnovative solutions.
111. Which one of the following is not one of foactions of * Evaluation’?
A) Feedback B) Motivation C) Ideological indanttion D) Better guidance.
112. Who among the following is considered a prg of the Wardha Education System?
A) Sri Aurobindo B) S. Radhakrishnan C) J.Krishnamn D) Mahatma Gandhi
113. Who among the following was the main propoméihe Kindergarten system of education?
A) Froebel B) Rousseau C) Maria Montessori @yniDewey
114. Which of the following is not one of the “roted Visual Aids”?
A) Slides B) Bar Chart C) Handheld Projector \[iJeo Projector
115.  Which of the following is an independent vhlgain teaching-learning process?
A) Student B) Institution C) Teacher (D) &xats
116. The highest level of cognitive domain is:
A) Synthesis B) Analysis C) Comprehensive D)HsBON
117. Who has the least chance of becoming anteeteacher?
A) One who has no interest in teaching B) One ghastrict disciplinarian
C) One who neglects teaching D)One who knowsliigect well
118. Books can be a powerful source of commurdnaprovided:
A) The content is abstract B) The contentlisstrative
C) The medium is Hindi D) The print quality dfet book is good
119. Good teaching is best reflected by:
A) Attendance of students B) Number of distions
C) Meaningful questions asked by students D)dPap silence in the class
120. The ability to locate, evaluate and effedjivese information is an important trait known as :
A) Critical thinking B) Information literacy
C) Number of distinctions D) Selective attention
Section — B
41 it -orereRar sifew o ® e e @ et fmar s 2
A) & garst ot graed aReade & o a5 Fee . B) w6 & foen el yae
C) @ uferier =Y =1 D) faga sferear &t i
42. ToRedw S RS O o9 - fFRTeneia 2 3R BTl 8 § TR A @ 21 S "ues 39 o - i
T ?, 98 B
A) e o B) ugiferaw C) @i D) =2t
43. UF U & R A forae seer &
A) 900 B) 375 C) 981 D) 250
44, TR g R T H AT I AR o 3@ B, W IR W G ZRT I oA a e
A) T 3@ 2 39 ¥ SN a B) et 3@ 2, 3@ ¥ IR
C) fSramr 3@ 2, 39 & 3men D) fSom 3@ ®, 39 ¥ U -
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45.

46.

47.

48.

49.

50.

51

52.

53.

54.

55.

56.

98 TEel WRaE & o @ @ fafew wae F wm foman T om:
A) TETNE RS B) S @& M C) fafter wwsrarer D) Hrell Ao
fore ToTIE 99 7 SRR & IR SR T8l foRar o

A) TEHER B) ufeEr C) R D) femiferar
T -G AT RS S T W T8 #:

A) TERd B) W& C) &=t D) e
HIATNET & A FeATT ! TFEd B

A) s B) wRifa=TT C) sifeufamrT D) forsftmar - fammr
fore YR AR ¥ AU St SEAfelRad Shidl ol A fehal o:

A) e 9| B) fafex &= C) T&. T, ol D) H&ha SIureAd
WRA B AT St T T Sae fhael SR foRar T 2

A) T& TR B) @ W R C) ©F SR D) et =&l
f&r® ‘Bretton Woods Twins'st I9=m fear o #:

1. IDA 2. IMF 3. IBRD 4. WTO

A) 1 3R 4 B) 3 3R 4 C) 2 3K 4 D) 2 3R 3
RO €8 Gl F U’ 498 ¥ AU orT 21 I fohw @ weEfta @

A) wfEest & st sifereR B) wfgenstt & forg smerr

C) o= & forw Iefie D) &l 3R SAhR

T T WeAag qRaa @ e COP193tar CMP9 Fa&R 2013 # &8l W g3 o
A) k& B) awar C) wifreas D) warer

WRA § FAIRT AR AR S 8

A) 19 B) 20 C) 23 D) 24

fre T Y I Aeas § UEell SR AR T R

A) HfoTR B) @ C) faa D) 3Jmunad geu

2013 & forg i~ Fredieor sik foam & forg stemfera s i R & o s1a & & form @t
e e T 3

A) Tl ¥ B) Werm ureaR C) T=iell #iohel D) 4t gaE T
57. fawiRar s, @ 3 smeferam siumr 2f@ wfgen fRmrersy 9@ 2012 S 2, wsl ¥ @

A) 4. wa T B) seiR@ C) W=t D) wirarferar
58. U W@ fiem wa wHRn W @

A) 29 T B) 29 W@ C) 29 f&a= D) 20 3w
59. AN WMRiE T & fhw w1 & fog ufdg @

A) RTACTH B) wforqd C) wfrafs D) &u&
60. Tom r wifze wifcrm At fore & forg weeht wfeen & w0 wfefesa @

A) I AT St RTINS B) T &l TS

C) \aiwd ~areid sl =arneia D) aNee: Ft T A=At
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61 A dic & fore siftraw waem @, YR & Falem SR & ged R i 9 AUSH 3R e
fear @
A) 30 RG ¥ 70 ARI TR B) 40 @@ ¥ 70 @R dF
C) 50 &k ¥ 70 ORI TF D) 40 &’ ¥ TS i Tk
62. IR TSRS B TER A AR H -G gorar (eiRa w8
A) T2 HIHE TIRA B) UNDP
C) 3RET HPIA T Fid EIT T eA D) faza &=
63. Tawa SaEn feaw «a w=m@n S @
A) 3193 B) 11 Teg C) 4 Ja=R D) 10 feEs
64. ICC T-20fa7a &9 2014 ¥ U Ul F A 1 IveIcH Al 3k T o
A) 101 B) 106 C) m D) 116
65. TR g fha o wefee ®
INEERE G2 R R ] B) sferar gumelt =t fafemeT
C) ¥ foerma & forg smaie D) WEHR & I IR @
66. Tora smOE wgufy ¥ <1 WS e @ B & N wuRa = 2
A) sRIH eI B) witet g C) faa ferdtes D) T W
67. B AETEY A G F w91 IrTIGR i -Al
A) =faror sreteRT B) rgwiRkar C) 3resifear D) ™ ¥ &g 3 78 ?
68.  ‘Why | am an Atheist'&T @ i o :
A) Y T 99 B) @wad & C) wira e D) ¥edTd SIRT
69. B B A U 7-F Rl Aa STANT T STEAE HiA B
A) 3 FAR AR B) . P, T C) Wiew f&E smea@fon D) 3Toid ehtal I8
70.  USET TR ASHIR IRAGHT ST o H i & T A WS A
A) 1. 04. 2007 B) 02. 10. 2007 C) 14. 1. 2007 D) 01. 04. 2008
7. ‘TiiE’ o ‘Sfediidd IR’ A T8 g9 7 O AHs i ae 2
A)Tid MEERR ¥ B) 3caliice W8MEER & C) ITRYT 9FR & D) =férr- ga ¥nR |
R (= A 72-73) : 9 g Y wR fasedl § A g @ g SNl I G w9 & ol
72. FJUL: BOQQ :: LHRX: ?
A) BKPR B) MNCC C) HRYY D) HMNC
73. 9:162::8 : 7
A) 162 B) 128 C) 96 D) 112
74, 39 IER-TE HI I O 981 G 9Ar 7 W 39 I | e @
HaESd . PR @R 99
A) fram : we ;- JTER B) ek : difire : fAwor
C) ¥1ed : U : AT D) 9% : 98 : TaA
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&= (997 | 75-76) Ry W@ =R famwedl # A A fahed v ol A wHE € IR 39 RE U
e o €1 39 faus W o Aem ) Sl 7@ 9HE A et @ 2

75.
76.
77.

78.

79.

80.

A) 62 B) 42 C) 152 D) 110

A) SET B) sfieient C)waifear D) ==t

v foRiw @ie 9 ¥, ‘Ju ra de’ @ wide™ @ ‘what was it’; ‘mo nil’ @1 FEes ® ‘you go’; ‘nil pam
ra’ 1 A9 8 ‘you like it’ 3R ‘tok lu fo’ =T #ae™ ® ‘she was sick’3mT 3@ @ig § ‘what you
like’ & & for@:

A) nilralu B) pomnilra C) pomralu D) de nil pam

gfe ‘MOUSE’ = ‘PRUQC’ & &1 ¥ whisag fhan oiem 2, @t 38 &g § ‘SHIFT' = &d foran
S 8

A) VKIRD B) VKIDR  C) VJIDR D) VIKRD

‘ATLE’ 3R ¥ 31ion & foramr sl o o @ard) &, O0g 50 38R T 8¢ I168 9§ hadl Udh aR
B 9ART AT 8

A) @ B) @ C)3R D)9R ¥ 3tferh

T IR T # U Ui A 36 A8 @ U WU 21 TEell HR & W€, T el ©, T8 GR &
qE A T T, NAA FR & A€ AT Thed AR IS | G B @ MY A F Thed d E@ R
Wﬁ:

A) 10 B) 12 C) 15 D) 17

fder: (qew1 A 81-83 ): BE Al A, B, C, D, E,3R F &l 2 SH & 7 SH A 1A AR A
a9 — Uah Aleeh ufd 39 — 3afSia e 2 | C 3R D & =T 3 Aieeh & 3R A g
C & AT Uh AIch 2 | F 3R E & AT Uah AlCh 2 AR E &l F A Uzl JRATSTT HET
21 Bl A QA Isd FRIRTT o6l B, W S 8 o6 G w31 Aeahl & A B ¥ AR T

B |

8l.  FTcahl AT A fohd Hlceh & TR BN
A) A B) F C) D D) freifRa =&t forar s aaman

82. HIceh E &l fha a0@ =1 Ao &6l &
A) & B) =it C) 9= D) feiRa =& for S g

83.  FAIChl & A o fohd Hledh & I BN
A) A B) D C) B D) fruiRa =&t forar < @eran

84. B,C,D,E,F,G,H, I% =R ¥ s & 9@ 93 31 B, F3R C &1 fehcas =/ 21 E, F& a0
T @B G, CH W ¥ @0 1 D, G &l e & 781 1 C 3R J & e @ =afea 31 C
3R D & RfEae frew =afea &
A) Fad 2 B)@#ad 4 C)&aa 5 D)ar 244

85, AT A+BarAdeaefr A Boifiai 8, ‘A-B’ s adee 2 fof A, Bl 9=t 8, ‘A x B’ T
Aaea e fF A, B W5 8 3R ‘A ~ B' & oo™ © fF A, B &t 38 81 @t ‘P+R+S+Q & forw
HIT-AT G T
A) P, Q& 3@t & B) Q, Pt 3tie (fimm ot o) &
C) P,Q%! 3iic (ar st s&=) @ D) P, Qaft &
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86.

87.

QF A, PR TEANMM A INRT IS, PR AA M Tard&T 21 M &1 T A =1 Rean 21
A) At B) faam C) A D) fawea (A) 3@ (C)

T S forg ¥ 7d & WE T IE T B R 15 mTe & §E O 9% FIAr 8 3R 10 m Tl
21 R 98 a¥ 3 X 10 M B 3R FT H IO 91 IR qIH 22 mIAAA B IR Q' fog 7w
o 31 98 ‘'S’ forg ¥ forat | ok form foam ¥ 2

A) 15 mzfeor B) 22 niefeor-g@  C) 12 mefermr D) 13 mefemr-ug

fdm (wz= A 88—-89) : eI /BN /UG B UeH wl U IR QY WY fawed A HE uT W

Tﬂ@ib_}
88. 9,27, 31,155, 161, 1127, ?
A) 1135 B) 1288 C) 316 D) 2254
89. Y, B, T,G,0, ?
A) N B) M C)L D) K
90. fwfena o &, S 3R TG B | IW T A A 2v v fawew A oy e R v fwew A =
adb_ac _d bcda bcac d
A) bacbd B) dbacb C) cbadb D) acbda
9. AR P33T+ B Q&I —28, RAr 3 x 7, 3R S anf + 2, @t foiferg & @ siA-
& =
A) 16 R12P49S7Q9=200 B) 32S8R9=160Q12R 12
C) 8R8P8S8Q8=57 D) 36R 4S8Q7P4=10
92. 10 9 B U & G 9 H G ¥ AT A M 10 WA & «e, A A 9 A FG F A

BRI I ) TAAE SE R SO B
A) 5:2 B)7:3 C)9o:2 D)13: 4

fdm (we . 93 -95): WHUIR UF Ued &l Iedl & fog ue @it ot wderor <uiar @ @

THREIRTA A & 26% 98d &, GHRIRYA B @ 25% Ued &, GHeRaa C & 14% Yed §;
TR U A 3R B &l 11% Yed 8; GHER 9= B 3R C &l 10% Yed &; aAremas C
AR A @ 9% Yed B IR GHrERTS C @l hadl 0% ded 2l

93. O WIS W T THRIRYA Ued &, I Ui 8;

A) 10 B) 4 C) 5 D) 6
94. O UISH RIS Yok TARIRYA Ued ¥, IAa Uieed 8

A) 20 B) 80 C) 60 D) =¥ & 1 o 7S 7
95. O YIS A ¥ A o TARIRIS Yoo B, Il gfcrErar 7

A) 15 B) 16 C) 20 D) T ¥ & & 78 B
96. U WS F A g U foT H R aR TR WA E:

A) 24 B) 48 C) 22 D) 44
97. 2014 U T holw<k (g A & Felrs T BN

A) 2018 B) 2020 C) 2022 D) 39 & 1 o 7S 7
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98.

99.

100.

101

102.

103.

104.

39 fawreq ot g o wse PAINTED & wdvr- uffava & sifarsifers femn 2

(A) TATNIAY (B) AATVIAG
(C) AAINIAT (D) AETNIAY

o T A R AR R T # o B e ¥ A fag ®, A SR A e ¥ e
ez 211

A) 2 B) 3 C) 5 D) 6
fifera T & forem feie 2
A) 28 B) 24 C) 25 D) 26

STEATTT T 3299 i -4 7

A) feenfda &t fiew ot ot farfaa e B) wiease ¥ dafed SeRiat 3

C) faanf¥ar =t Arew foramn D) faenfday =1 qdem u @ & forg SR e

AT & i TR(MLT) & daer & Sl a1 6o qet 78 8 ¢

A) Hf AT & SR staen 2

B) A & Wfd TR {EAd: Jaferd |mtoren - 3fde @eeensli AR @ 8

C) MLT ¥ TTH&R & T2 3R F:M & W hSEAHON hl JNed qieferd 8

D) MLT farenst =t 2a arg s-1en 2 fof 3 GRat annit ol 918 @ 9o 3R O U8 W 3! 8
L:ED

‘Sreama & Sy 'R O(ULT) & gee § i -1 ue g8l J8l 8

A) ULT &1 9= Tedraeh Aika 8

B) 78 ‘Hfa W srgie’ ® Riifh a8 R a2l & Soeudul O 8 Qi w8l e a8 fwa &
TT W Rfved B 7

C) wEgfue sifaeware st ULT & v aroifire et ores 2

D) @7 faenfdal =t sifgsw JmRw =l fanfaa ey # sfremfie staer 9ed et &

‘Srezmae o fomdt TR O(RLT) & 99l § -1 o T8l A8 =

A) RLT &l %% T&@d 390 3

B) UE GHET-hivad AU B

C) faenfiar = Twen & e & oY Uk YR T e SURT 9T Il @

D) 3reamdeh Wrufiieh T TSV el B SIX forenst weraes s s o 7

ZBG-20999-A 15 Contd.



105.

106.

107.

108.

109.

110.

1.

2.

=W AR W E@H & FIAR e I o &F FAAl T B - AE B -

A) TR - Toi e & B) dsiHIenes &=

C) WA &= D) ¥i-W& &F

‘dR faftr’ o1 wEer we-ar @ R

A) T frmrrt ® i a8 o9 a9 | faamer Sfiar- 07 i e R g B

B) ue foenfia % wmisrer wafea =it Weaied o &

C) 7& ifrh AW ot Wreared e &

D) 3@ 3o 99T 3R A9 - ORI & AR Iehel a9 &l oo Bt B

Frea faftr & w1 | A A s At wegfaeRor’ 1 wEer Se-ar E R

A) dfE s & g0 I Uite Al 3k faRus o wen W R o 8

B) ue faftr fasomer aoee farenfdar & forg Swanm 2

C) = farenf¥al % v YR & Igarare ol Teaned ol &

D) & deRl 3R YeEHl ol FISS, ASAl, WA SAe Sfl STEATTT USH & AU fohar ST @Rl B

“wE sreamae fafer @ wEEr W - R .

A) T8 Jferer faalia o6 SO\ TreaTaes - ot @l e R § GEREn el

B) @ ¥ 3reAIUA deh-iiehl 3R gl ol Siferehas IuanT afferd B 8

C) I8 A Ul ¥ R A B

D) Tz faenfat =t amfore - snfier uRftafoal o wefae ot 2

‘e aRet fafer’ @1 A - T R

A) aE faenfdal & dRe frarst o R we ®

B) Wl W o 3R I2¥A & AR A fAfFuaar el 7, 981 W 3@ 9 HaeA 6 o bl 7 | 39
Rt i gfiers g IR s W FRfim R s e B

C) 998 & arF Teqd foRd 1T fawar srerar e W wE § ORI stafkar @l dreafed weet &

D) W&l W uRemt & forg wege fawa frdr snefirer wae & 9 o 2, 91 s sifaifo ot ot o
FEHA B IR T ¥ I qReE Gei: w@rifae B 8

‘g - st faf’ & e - A e

A) T8 WRTNERI ol GHET T TS I3l ey 3R TehadTd X o &l e 9 el 8

B) 7e faenfda ¥ o -wafear = Mrewifed et #

C) g vl 3R &¥ear - GHIe il RIearslt ol Tert &

D) I afhd SRIERY Y TSI SHR & S IRac-ehI GATe ohl IRT oheell @

‘ARTEHA T F™ RA-A B B

A) gfaafte B) sifsrRor C) J=Rer fareror D) a&wR fFeaer
et f3ren guel et gEdrEaes TR W I 2
A) St IRRE B) W& UuEwWH  C) N HWIRS D) eTe e
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N3, faen ot frsamds TRl 1 e TS fRR AT W @

A) BEd B) &t C) wiikar #i=ead D) Site =08
N4, ‘ufera fagee ' we-d TS R
A) s B) SR =& C) =191 # UShST ol D) dfar dioterex
N5, 3TEATIT- JIRAW Ufthar # WA W FIA-4T &
A) Tt B) &el C) 3reamsh D) e - T
6. GAMTHS & H ITaTH R 8
A) |zeruor B) fergetwor C) =& D) Wt
7. UNIEERR STEATIH SH T I SR fRaeT @
A) fra &t sream § o & =8 2 B) I %R 3FEE &
C) S 3TeamaT Sl JUEM el & D) < 3 fawar siga seft @XE ¥ W ®
8. TS HUR H GG T B gl 8, 99 R -
A) fawEsg s B B) fawaasg fedt 2t
C) wezw fa=dt =t D) T&deh @t |1 U ISt B
9. 31 AN sfear &9 A fhe g gfafafaw e &
A) faenfdar =t Sufkafa B) fastal =it @
C) ferenfal g/ 1@ v srfqut e D) =em A o ARaar
120. I A AT, Hedih AT 3R THIEGRR 91§ IJTRT Al U Heeaqui faeiwen 8 g @ 2
A) IR g B) &= HiewRa
C) fasyal &t |wn D) T3 A
Section—-C
121.1f 2x+ 13 = 4x+2then xis equal to
(A) 2 (B) 3 (C) 9 (D) 4
122. How many real solutions are there of the equation x*-2 =0 ?
(A) 1 (B) 2 (C) 3 (D) 4
123. The value of the expression @é‘i% is equal to
(A)14 (B) 0.14 (C) 140 (D) 0.56

124.The sum of two numbers is 50. The fraction obtained by dividing the larger
number by the smaller number is 3/2. The numbers are.
(A) 25,25 (B) 10, 40 (C) 15, 35 (D) 20, 30
125.Father’s age is 5 times the age of his son. After 15 years the father will be
2 %times older than his son. What is the present age of the father?

(A) 35 years (B) 45 years (C) 55 years (D) 30 years
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126.The Sup. {sinx + cosx} is equal to.
(A) 2 (B) 1 () V2 (D)%

127.A bag contains 6 red and 4 green balls. A ball is drawn at random from the bag.
Find the probability that it is either a red ball or a green ball.

(A) 1 (B) 3 (C)1/2 (D) 5
128.For any event E, if P(E) = 0.99, find the value of P(not E)

(A) 0.1 (B) 0.01 (C) 0.0001 (D) none of these
129.The sum of the series 5+ 9 + 13 + ... + 49 is

(A) 351 (B) 535 (C) 324 (D) 435
130. What will be the remainder if (xX°7 — 1) is divided by x +1 ?

(A) 96 (B) O C) 2 (D) -2
131.What will be the remainder if (16! + J) is divided by 17 ?

(A) 1 (B) O (C) 2 (D) none of these

132.An odd degree polynomial equation has

(A) at least one real root (B)no real root (C) only one real root (D) none of these
133. Decimal expansion of an irrational number is

(A)non-terminating, recurring (B) terminating

(C) non-terminating, non-recurring (D) none of these
134.The equation |x+2| =- 2 has

(A) unique solution (B) two solutions(C) many solutions (D) No solution
135.The value of Sin (131/4) is same as the value of
(A) Sin (31/4) (B) Sin (511/4) (C) Sin (r/4) (D) Sin (91t / 4)
136.If ax + by = c is tangent to the circle X2 + y2 = 16 then
(A)16 (a2 + b?) = c2 (B)16 (a2 - b2) = c2
(C)16 (a2 +b?) = - 2 (D)16 (a2 - b?) = - c2
137.Value of the limit lim,._,, @ is equal to
(A) 1 (B) 2 ©) (D) none of these
1 21[%] _ .
138.1f [2x 3] _3 0] [8] = 0, value of xis
23 13 13 23
(A) < (B) - C) -~ (D) ——
139. Every homogeneous equation f{x, y, 2z) = O represents
(A) A Sphere (B) A Cone with vertex at origin
(C) A Cylinder (D) None of these
140. The equation x2-y2 = O represents
(A) a circle (B) an ellipse
(C) pair of straight lines (D) a hyperbola
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141.Two angles of an isosceles triangle are always
(A) equal (B) equal to 45° (C) equal to 60° (D) none of these
142. The function y = fix) has a relative minima where
(A) fiy=0and f'(x) <0 [B)f'()=0and f"(9 >0
C)fly=0and f'(9>0 (D)f'(9Y=0and f'"(¥) <0
143. If volume of a sphere is 36T then its surface area will be
(A) 18T (B) 611 (C) 121 (D) 36m
144. Let average of three numbers bel6. If two the numbers are 8 and 10, what is the
remaining number?
(A) - 30 (B) 18 (C) 12 (D) 30
145. A bag contains 7 red and 4 blue balls. Two balls are drawn at random with
replacement. The probability of getting the balls of different colours is
(A) == (B) == ©) 3 (D) None of these
146. The distance of the point (2, 3, 4) from the plane 3x- 6y + 2z+ 11 =0 is
(A) 9 B) 7 (C) 10 (D) none of these
147. If g = {(1, 1), (2, 3), (3, 5), (4, 7)} is a function described by g(x) = ax + b, then what
values should be assigned to a and b?
(A) 1,1 B) 1, -2 © 2, -1 (D) -2, -1
148. Three resistances of valu@ 2ach are arranged in a triangle form. The totsistances between
any two corners will be
(A) 4Q (B) 2Q (C) 3/14Q (D) 4/3Q
149. A copper wire and a steel wire of equal leragtd equal thickness are connected in series with a

battery. Which of them will get more heated ?

(A) steel (B) copper
© equally heated (D) insufficient data tolyep
150. A current in a colil of inductance 5H decreadesrate of 2 Amp/sec. The induced emf is
(A) 2V (B) 5V C© 10V (D) -10V
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151. The application of an electric motor is to
(A) convert voltage into current
(B) transfer charge into current
© transfer electrical energy into kinetic energy
(D) convert current into voltage
152. Charge flowing per unit area per second thraigonductor is known as
(A) potential difference (B) emf of the battery
(©) Ohm’s law (D)  current
153. The final image formed by simple microscope is
(A) real and inverted (B) imaginary and inverted
© imaginary and erect (D) real and erect
154. Which of the following phenomenon is respolesfor the twinkling of stars?
(A) atmosphere reflection (B)  atmosphere refoact
© reflection (D) total internal reflection
155. The refraction index of a rare medium witlpexs to a denser medium is
(A) 1 (B) greaterthan 1
© smaller than 1 (D)  negative
156. Objects at different distances are seen bgykeln this process which one of the followingagn
constant ?
(A) The object distance from the eye lens
(B) The focal length of the eye lens
©) The image distance from the eye lens
(D) The radii of curvature of the eye lens
157. The sine of angle of incidence divided bydime of angle of refraction equals refractiveindezalled
(A) Snell’s law (B) Newton’s law
© Brewster’s law (D)  Bernoulli's principle
158. The power generated in a windmill
(A) is more in rainy season since damped air wouddn more air mass hitting the blades
(B) depends on the height of the tower
© depends on wind velocity
(D) can be increased by planting tall trees ctogbe tower
159. The one thing that is common to all foss#l$us that they
(A) were originally formed in marine environment
(B) contain carbon
© have undergone the same set of geological pseseduring their formation
(D) represent the remains of living organisms
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160. A particle moves in a straight line such that't (where s is distance and t is time)
then the acceleration of the particle is always
(A) negative (B)  positive
©) Zero (D)  can not be found
161. A person covers half of his journey at a spEetD m/sec and the other half at a speed of S@en/
His average speed during the whole journey is about
(A) 15 m/sec (B) 45 m/sec
(© 75 m/sec (D) 90 m/sec
162. Two particles move in concentric circles dirg and p such that they maintain a straight line with
the centre. The ratio of their angular velocites i
(A) 1 B) hL+tr
© n/ry (D)  rdry
163. When we kick a stone, we get hurt. Due to Wioice of the following properties does it happen?
(A) inertia (B) momentum
© reaction (D)  velocity
164. The slope of the velocity — time graph foarded motion is
(A) zero (B)  positive
© negative (D)  neutral
165. If the kinetic energy of a particle increabggl4%, then the increase in its momentum will be
(A) 12% (B) 20%
©) 33% (D) 44%
166. Newton’s law of gravitation is valid
(A) only for charged bodies (B) all bodies
(© only heavenly bodies (D)  only for small besli
167. When two bodies collide elastically then tharmfity conserved is
(A) kinetic energy (B) momentum
© potential energy (D)  both kinetic energy andmentum
168. The heart of a man pumps 4000 cc blood peutairat 120 mm of Hg. The power of the pump
(heart) is
(A) 0.98 W (B) 1.08wW
© 1.18 W (D) 1.28WwW
169. The gravitational force on earth on a balmafss one kilogram is 9.8 N. The attraction of ball
the earth is
(A) more than 9.8 N (B) negligible
© 9.8 N (D)  slightly less than 9.8 N
170. Which one of the following instruments is usedneasure the pressure ?
(A) Ammeter (B) Manometer
© Lactometer (D)  Picometer
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171. Which has a greater buoyant force acting oa floating 100 Ib piece of wood, or a floating 150
piece of wood?
(A) the 100 Ib piece of wood.
(B) the 50 Ib piece of wood.
©) since both pieces of wood are floating, teegerience the same buoyant force.
(D) there is not enough information.

172. A stationary wave is produced in a stringeoigth 1.25 meters. If three nodes and two antinackes
produced in the string, then the wavelength ofwhee is

(A) 2.50 meters (B)  3.75 meters
©) 5.00 meters (D)  1.25 meters

173. An echo will be heard if the
(A) time interval between original sound and refiégl sound is more than 1/10 s
(B) time interval between original sound and retiéel sound is less than 1/10 s
© time interval between original sound and et sound is more than 1/120 s
(D) time interval between original sound and retiéel sound is less than 1/120 s

174. The method of detecting the presence, posiinahdirection of motion of distant objects by
reflecting a beam of sound waves is known as

(A) RADAR (B) SONAR
©) MIR (D) CRO
175. Which state consists of super energetic apdrsexcited particles?
(A) Liquid (B) Gas
(C) Plasma (D) Bose-Einstein Condensate

176. According to Henry's law
(A) doubling the partial pressure doubles the stityb
(B) doubling the partial pressure triples the siityb
(C) doubling the partial pressure decreases thésiby
(D) doubling the partial pressure does not affeetdolubility
177. The protecting power of lyophilic colloidall $® expressed in terms of

(A) Critical miscelle concentration (B) Oxidatiommber
(C) Coagulation value (D) Gold number
178. Atoms having same number of neutrons butreiffemass number are called
(A) isotopes (B) isobars
(C) isotones (D) isotherms
179. Which of the following has largest negatilexton affinity?
(A)F (B) CI
(C) Br (D) |
180. The family of element with the highest ionisatenthalpy:
(A) Alkali metals (B) Alkaline earth metals
(C) Halogens (D) Noble gases
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181. Which of the following has coordination bond?
(A) N (B) CaCb
(C) G5 (D) RO
182. What will be th@H at 25C containing 0.10 M CBCOONa and 0.03 M C¥#€OOH. pKj, for
CH3;COOH =4.57.
(A) 4.87 (B) 3.33
(C)5.09 (D) 4.05
183. The function of alum used for the purificatmfrwater is to
(A) coagulate the sol particles (B) dispersedbieparticles
(C) emulsifythe sol particles (D) absorb the sol particles
184. Which one of the following is metal?
(A) C (B) N
(C) Na (D) O
185. Which non-metal is found in liquid state atmotemperature?
(A) Mercury (B) Zinc
(C) lodine (D) Bromine
186. Oxides of non metals are in nature.
(A) Basic (B) Acidic
(C) Neutral (D) Amphoteric
187. Which gas are produced when metal react witts&
(A) Oxygen (B) Nitrogen
(C) Hydrogen (D) Carbon dioxide
188. Which of the following can be shown to be batBronsted acid and a Bronsted base?
(A) O* (B) HSO/
(C) PQ3 (D) CN*
189. An example of an emulsifying agent would be
(A) Qil (B) Soap
(C) Water (D) Salt
190. Which is not an organic compound ?
(A) methanol (B) acetonitrile
(C) sodium cyanide (D) phenol
191. In benzene, each carbon atoms undergoes
(A) sp (B) sp
(C) sp (D) sp and sp hybridisation
192. The shortest C-C bond distance is found in:
(A) ethane (B) ethene
(C) ethyne (D) diamond
193. Propene reacts with HBr in presence of orgperoxide to form:
(A) 1-Bromopropane (B) 2-Bromopropane
(C) 3-Bromopropane (D) 2-Bromopropene
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194. The strongest acid among the following is:

(A) CHe (B) GHs
(C) GH,4 (D) GHz
195. The compound formed as a result of oxidatfogtloyl benzene by KMngis
(A) Benzoic acid (B) Acetophenone
(C) Benzophenone (D) Benzyl alcohol
196. Which acid is used in the manufacture of sstnthrubber?
(A) Acetic acid (B) Formic acid
(C) Carbonic acid (D) Benzoic acid
197. Not a characteristic property of ceramic male
(A) high temperature stability (B) high mechatistrength
(C) low elongation (D) low hardness
198. Increasing concentration of €@ atmosphere is responsible for:
(A) acid rain (B) greenhouse effect
(C) lack of photosynthesis (D) death of aquiifiec
199. The coating on modern non- stick cookwareedactric iron is of
(A) Terrycot (B) Rayon
(C) Polyester (D) Teflon

200. For corrosion of iron to take place
(A) Presence of moisture is sufficient
(B) Presence of moisture and oxygen is essential
(C) Hydrogen is required
(D) A strong acid is necessary

Section — C (Subject Knowledge)
121 afR 2= 4% q xR *

A) 2 B) 3 C) 9 D) 4
122. W x*- 2 = O oo arfas B
A) 1 B) 2 C) 3 D) 4
123.  =@w 0.7 X 0'084 T A TR 2
A) 14 B) 0.14 C) 140 D) 0.56
124. < G H SIS 50 B | GE0 G T DI G WA o R I 5 3/2 B g@ @
A) 25,25 B) 10,40 C) 15,35 D) 20,30
125. T & Mg A A G A 5 T BN 15 AW & WE U I 9 ¥ 22 I« Bnm e o ade
alg%:
A) 35 a9 B) 45 a9 C) 55 au D) 30 a9
ZBG-20999-A 24 Contd.

®



126.

127.

A=A {sin X + cosx} WeR

1
A) 2 B) 1 C) 2 D)
ThH A A 6 el 3R 4 BA A B | Ueh e &l O | ¥ Il &1 A enten oien 81 99 |1
oW o o a8 Az o o o 8 0 54 Ne B

A) 1 B) 3 C) 1/2 D) 5
128. & E wemn & fom, afe P(E) = 0.99, PE 7&) &1 e Ao e

A) 0.1 B) 0.01 C) 0.0001 D) 3§ ¥ &g 7 78 7
129. 5+ 9+ 13+ ...+ 4991 & W =

A) 351 B) 535 C) 324 D) 435
130. @l (X —1) & x+ 1 A WET Ear S @ A Aoher BN

A) 96 B) 0 C) 2 D) -2
33 fe (16 ! + 1) I 17 ¥ WA fFar Srer & O AVHA T BN

A) 1 B) 0 C) 2 D) A% &S Tt 78l &
132, fauw folt sgue ST &1 B ®:

A) FH ¥ TH T aRdtad qA B) ¥ arfaes 9ot A8 B

C) @ad U& ardiaes A D) T d & g ot 78 2
133, 3MURAT G HT ITFET 6K B

A) IR-THTSF, Eaah  B) @A C) IR -GS, JATEIE D) 3T ¥ &g 7 78 7
134, TWEOT I Xx+21=-2 wE/HT:

A) 3= BA B) @ &« C) 3 & D)wIE +f 5t 8l &
135.  Sin (13n/4) o w3 fore & w9 B

A) Sin(3n/4) B) Sin(5t/4) C) Sin@/4) D) Sin (9% /4)
136. At ax+by =caa X*+y = 16% @ wEt B, A

A) 16(@+1)=¢ B) 16(E&-b)=FC) 16 (@+b)=-¢& D) 16 (&-b)=-¢
137. @ limx_)o‘/x_“j_laﬂww%:

A) 1 B) 2 C)1/2 D) 3T ® ¥ &g ot 781 2
138, ale [2x 3][_13 g[g]=0,€rxa€r1§€r‘§:

)5 (B) 5 © -3 (D) -5
139. TR GWETE SIS (X, y, z) = OFgier 2

A) e B) e ™ ARy aRd wiw

C) ¥e D) T & & g o7t 78 B
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CHARU
Pencil


140. WO X% — y = 0 <gieT 2
A) T4 B) degw C) el w3 &1 Ser D) sifcrrae
141 wHfgag e & @ Ao s B R
A) TR B) 45° & s C) 60° & =R D) 37 & 4 &g ot & @
142, ®e y = f(X) I A0 SOHER § SEl
(A) fly =0 3R (9 <O (B) f'(9 =03R f"( >0
(C) iy = 0 3 f'(x) > O (D) f'() =03R f"(x) <0
143.  afe Uk WMol 1 A 361 8, W A T IS H &%l BN
A) 18t B) 6n C) 12 D) 36n
144. AW AN GEAA BT AGT 16 21 TS S FE&AW 8 3R 10 B, N AT G 4T B
A) -30 B) 18 C) 12 D) 30
145. UH I H 7 A 3R 4 et AT Tl A AT IoRAS S & Fepred ot I € 3R 37 &l o A AT o
F Tl @ o ¥ fafieT W 9 AR U R ) ErE @
A) % B) % C)% D) =7 ¥ A = % & 2
146. WHAA 3X -6y +2z+ 11 =08 (2,34, g i @ =
A) 9 B) 7 C) 10 D) 37 4 &g o 18 ¥
147. AR g () = ax + b gW aftla wemr g = {(1,1), (2,3), (3,5), (4,7)F @ a 3R b = = o0 g
fore = =2
A) 1,1 B) 1,-2 C) 2,-1 D) -2, -1
148, TRE 2QF T & O IRl A Brie w9 § wee R o 2 R @ el & e @
gfeRer B
A) 4Q B) 20 C) 3/4Q D) 4/
149.  THI TS 3R OHF AT Sl A9 3R SR i ARl Wl ded & Wi QU # Glier ol B g 9
HT-q AR AfF IRA B
A) @E B) dram C) ¥ TR\ B’ D) ITR o & foig srwie et
150.  5H Ihd &t T AR W O 2 Amp/Secd ® ¥ & Bkl 71 IRT emf. &
A) 2V B) 5V C) 10V D) -10V
151 foRE e o w@n fre forg B @
A) AT A URT A Fea & forg B) =TS &1 &R H IR
CYyfaa o=t o Tifast Set § uRad= D) R &l deest A FEerT
152. i & gfy A i g &F W gafd @l Bt FEd B
A) WHIEE R B) & = emf. C) & (Ohm) = = Df umar
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153.

154.

155.

156.

157.

158.

159.

160.

161.

162.

163.

ZBG-20999-A

WA GeAeH gN s i ufafees 2

A) jareitass 3R IefeT B) wTeufieh 3R Iefe

C) wTeafish 3R @ D) ardfas 3R @t

FT -4 37 IO O A AT & fow fReEw @

A) TEATSAT TG B) agevSAd  S9ET

C) w&e ya@mmﬁﬁ#

FE e | Fater forer Wew w1 SoanHw B

A)1 B) 19 3iftrsw C)1a =™ D) e
i IRl | A F 3 @ B =9 gfhar A -1 R e @

A) i@ ® A=Y AF A Q@ B) sif@ & o & Anla
2) i@ & o ¥ gfafers ot @@ D) 3@ & o=g &l e & WE

AT 0T & ST i Jqac D0 & a3 ¥ WET g1 Sien @ o 98 Jqacle & S 8l 8,
T HEd ©:

&Y =7 @ By"ecnwm ffaw  C)sgrx s s D) skasat o fgr=

qo - T | SeaT e

A) Tut & Hew ¥ A B 2 FAifh SEiead a1 T WA BAT il A THR et AUk arg Efef
B) TR &t Sare W R &t &

O o & am w fek w2

D) TR & e 39 g&il I I R 4 Tl Tl o Fhell ©

Tk ST o @it oitareH Sl | 9 8, 98 @ R A -

A) T T H TR TR H TEY AT A B) T ®E | T Bl &

C) o= foeior  spdemfeen ufohansll & W ¥ & TR §

D) St wiora o s bt e e €

TR 0 QEN W N T @ iR sVt (ST s U B 3R t W B), W FHOT T RO SN B
Q)/EEU'I'IFHT:F B) =R C) I D) Ao el ferar S Fehall

T SR SO SMER AT 40m/Secd THRIR ¥ 3R T@d el A 50m/sec it TR | 7F Tl 2
TQ A A I A TRR A SAET T B

A) 15 m/sec. B) 45 m/sec. C) 75 m/sec. D) 90 m/sec.

A FH 1y R 1, A D FRA T A T B AR DeE A A @ TN /@S B I D RO A
T S B

&) 1 B) i+ C) nlr, D) rafr

9 B Yo Rl SlaE AR ® o B4 e oWl 21 var foha faRivan &t aete ¥ B B
A) SiEE B) &aw \C}qu%rﬁ?m D) a1
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CHARU
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CHARU
Pencil

CHARU
Pencil

CHARU
Pencil

CHARU
Pencil

CHARU
Pencil

CHARU
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164.

165.

166.

167.

168.

169.

170.

171.

172.

173.

174.

Haeg A & ol S -Hg TWH & ST =

A) T B) =HTHeE L) = D) I’

e T HU A TS St 44% TS A 2, A IF D G H gfg BAM ¢

A) 12% B) 20% C) 33% D) 44%

e T o o9 g 2

A) Tae Jmafae favel & forg By s & fore

C) saa @i favsl & forg D) waw oy favdl & forg

W& o fivg g g ¥ T § ot Wit e e

A) TR St B) W& C) Rufisr sott ) s st iR ww A &
Teh fe o1 ged 122mm HgW 9 fiFe 4000cc & o9 ol B, @ W (ged) @t TR @
A) 0.98W B) 1.08 W C) 1.18 W D) 1.28 W

A R & ™ g & fivs W ey wfe 9.8N 21 ged W fivs @ s 8
A) 98N & stforer B) wvg C) 9.8N D) 9.8N ¥ &gt &
T - ITHT T W7 919 A0 & forg e s 2

A) TR B) #HRMeR C) FRieR D) fehrieR

dHS B 100Ib R TH, AT AFS & 50 b I T, A A ¥ fFw W Ieaw A sifern
afrar &

A) @eRst &1 100lb =t ehet

B) @ergt =T 50Ib &1 Tahst

C) =it TSt & 3 Cohe R X2 7, F T Iceoliadh e o1 I(Ha I @®@ &

D) 98 i WHEI T8 8

125 WY TS @ AR § TR 90T Io0~T ol Ol 21 3 39 9R § O o iR &Y i - oo
Ter fhy W &, o oA Sl AT - S R

A) 2.50 e B) 3.75 #iex C) 5.00 ez D) 125 ¥eX
gfdeaft g < afe:

A) W& At 3k gfafafead eaft % @ staue 1/10s¥ sifere 2

B) W eaf ik ufafafad eafr & @ st 1/10s & 91 8

C) 9=t taf 3k ufafafeem eaft % @ sfaue 1/20s & sifor 2

D) W& eaf 3ik ufafafre eaft % v siquer 1/20s & & 2

gafy A o foew & ufaferee g wfRum weref & wfy 9 s, Rafy s feam A wem w e

=1 fafer =) weq &
A) RADAR B) SONAR C) MIR D) CRO
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175, fora Rufa J sftr-soieat sik sifer - Sowe or wfFfor B &

A) TR B) %= C) wenfaant D) <9 - JMEeTS Ge-H
176. A & oW & IER

A) 3rifereR Tara o feoe faoaar st g e @

B) nf¥r ama =t feaue factan =t fompen o @

C) 31if3reR wama 1 fepor fackan ot & @ B

D) ¥ @ o feaque fackaar st gsifaa A8t ahea
177.  Tafya wiemes oo o wee afea &l fofe & &9 ® e fhar S

A) wifae Fdie g B) e & C) W9 qed D) Tl |
178. o oomrsh &t =g Y T e aig T g e Bl B, 39 @l whed B
A) FFEdER B) w¥¥IRe% C) g0 -+ggien D) &¥araeh
179. €& ¥ AfEF FOHR Soag v fohad 3
A) F B) C1 C) Br D) |
180. ITACH TR U1 - ST ST ed - IRAR 3
A) &R gl B) &m0 gt erqy  C) B D) Iegte ¥
181 wEe S fRE @ R
A) N2 B) CaC} C) G D) H.O

182. 25C w, fs@ ¥ 0.10M CHCOONa 3R 0.03 M CHCOOH wfafera ¥, pH =@ 8nm |
pK, & ol CH;COOH=4.57

A) 4.87 B) 3.33 C) 5.09 D) 4.05
183. U & eawo & forg wge fhend @ o  #:
A) faem & wonf =t SR ¥ B) faera & il =i uRfer et &
C) faea & =l o1 IR el B D) oo & ol Al Sraefv et B
184. oI -9 7
A) C B) N C) Na D) O
185. foRE 37- g ol TR ® AW W A G A TR W B
A) T B) W=t C) ImarE= D) s
186. IT-eNgA & SiaAESS TEHT B B
A) &g B) =t C) el D) Ivwaert
187. @ oTg I 3R & gRifRAT BN B, HT-& A9 Ter B @
A) IS B) rEgie C) BIega D) & SE3ierss
188. foha oI ST 3 3IX SRS &R 9 QM o €9 # qEiAr O |ehdl B
A) O? B) HSQ? C) PQ* D) CN*!
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189.

190.

191.

192.

193.

194.

1985.

196.

197.

198.

TRIRE TSl i 3T BN

A) o B) &g C) urit D) waur

e e -9 T8 R

A) FqERT B) vRereerEa C) @ifzw w@mEE D) wH

A H, TAF AT IHAV] G5 Ll B

A) sp B) s C) sp D) sf 3R sp’ &
g C-Cdur g0 v 9§ =

A) 339 B) A= C) gurs D) &

HEeh Qearse i Ui ¥ 90T @ s & forw HBr & gfehar &t 8
A) 1- RGN B) 2 - SHIgR= C) 3-SR D) 2 -
HIT-I T T B

A) C.Hs B) CsHs C) GHa D) CHs
KMnO, SRT ZATEA S=oli & SR & IRUEE®T §-1 i =
A) s ¥ B) ufEeifthAe C) a=iftheT D) S Jieehise

wT -1 I Refesw wg o fafmior 2

A) cfifew s B) wiffeh 3wt C) wmeit-eh 3l D) saifgsh 3
fRfi gard 1 faR o = 2

A) I=a A ferar B) S=u Aifde s C) =T <Sreitewor D) & wakar
TS § CO, 1 9 ¥&T Fehevl fora & forg foedier 2:

A) 3=t g B) AEEE 9HE C) WICEIATYT Tl JHE D) Wiel - e &l 3t
199.  3mefe - e wwamR 3R ool - 70 | wa fFa ot 2

A) Rt B) @ C) dffereex D) 2wt
200. T T GRY B & forw:

A) 3t & Iuftafa vt # B) 3mEdr 3R JiferieT ol Suftafa siferd 2

C) sresio e 2 D) Yol 3% % &
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Instructions :

1. Write your roll number on the Question Bookletlalso on the OMR Answer Sheet only in the space
provided and nowhere else.

2. Enter the Question Booklet Number and SeriethenOMR Answer Sheet by darkening the correspandin
bubbles with Black/Blue Ball Point Pen only.

3. To open the Question Booklet, remove the StBpieggently.

4, Check that the Question Booklet contains 20Qe@ive Type questions with multiple choice answdrs
case of any discrepancy, inform the Invigilatorhivit10 minutes of the start of test.

5. Each question has four alternative answers A &,D, of which only one is correct. Darken onlyeo
bubble A, B, C or D, whichever you think is the remt answer, on the OMR Answer Sheet with
BLACK/BLUE BALL POINT PEN only.

6. All questions are of 1 mark eachHERE IS NEGATIVE MARKING . 1/4 marks will be deducted for
every wrong answer.

7. Rough work is to be done on the question boakiét.

8. Do not make any identification mark on the OMRsiver Sheet or Question Booklet.

9. The Answer Sheet is designed for computer aetalu. If the instructions are not followed propgethe
candidate alone shall be responsible for the rastuloss so caused.

10. After the test, hand over the Question Booktet OMR Answer Sheet to the Invigilator on duty.

11. Telecommunication equipments, such as calasglgbager, cellular phone, wireless & blue toothicks
etc. and weapons are not permitted inside the exation hall.

12. Nothing is to be copied/noted from the given ®Mnswer Sheet and Question Booklet, and be takén o
of the Examination Hall. Any candidate found dosmwould be expelled from the examination.

13. A candidate who creates disturbance of ang &inchanges his/her seat, or is found in possesgiany
paper possibly of any assistance, or found givingeceiving assistance, or found using any othéaiun
means during the examination will be expelled fithim examination. The decision of the Observer $iwll
final.

14. The candidates will not be allowed to leaveEkamination Hall before the expiry of time.
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Key TGT(MATHS-13) 1.6.2014

Ans.

Q.No.

161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176
177
178
179
180
181
182
183
184
185
186
187
188
189
190
191
192
193
194
195
196
197
198
199
200

Ans.

Q.No.

121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141

142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160

Ans.

Q.No.

81

82

83

84
85

86

87

88
89
90
91

92

93

94
95

96

97

98
99

100
101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120

Ans.

Q.No.

41

42

43

44
45

46

47

48

49

50
51

52
53

54
55
56
57
58
59

60
61

62
63

64
65
66
67
68
69

70
71

72
73

74
75
76
77
78
79
80

Ans.

Q.No.

10
11
12
13
14
15
16
17
18
19
20
21

22
23
24
25
26
27
28
29
30
31

32
33
34
35
36
37
38
39
40
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